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Roll twe e ; wrtte = 2(‘4' {554;‘&6;. Thew
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Plsom is 3) = lsow is3] = 5132330313 =.0833,
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Exauple 3. (See HW 3, Problew. [5.)
I oll 5- corf) poker hawdds cre SN}
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60,[;6!0%-
(b) First chesse the foce valve (&cuowwa:]ﬁem)



©

Lor the E)c.;r : '?2.1 chorvees. Thew cless= '6u=c>’ catls
A this valve : (a) uosys . MNow clheose repusan
5 “,&."-C— VGLL‘S" 32) UQGJ.[S. 'Fiu,a-ul.(, ‘Pbr Q.C—C—é’p

thee last 3 values, chaose owe condl 4 aips for
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Plone Pm”'—'— l%-(g})-(?)ﬂq = 0.433569.
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have thes I\Uw-ék.‘d‘: (g‘ choress - 77\4 m:;auj
foo Qee wist Affer frouwe cocl otiar
cwd frou the 3 alike = §°9 clowess. So

PR olke) = 6'(52-5-4 = 0.154321,
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Excw.%)(c‘-l (s HW 3 #12).
Cons\Ber eveuts S EC in 0 sowple spoce
Y, with ) t
[VIzlog I5I=2%, [FI=36 |6]= 16, [SFI= 12,
1ISG1=4, [FGI=6, ISFGI=2.

(c) Fmd P (Schéc) .
(&) rlu& .P(n(’ two ovlecowes are chosen ol rardow,
ot least ore 15 m SuvFué).

Solution
(o) Mote that bcm:ﬂ mw netther S,‘)[:or G s the
cov-a-‘E (c-u...e.\.;(; o'P 6:4:3 A G:‘} L:o-s'6 ohe.. Sc

P(S°Fc°) = (- P(50FuG)
= [-(P(s)+D(F)+P(6)- P (sF) - A(S6)
- TG+ P(SFG))
l-(éa%+.26+./6—.1&- .0Y4-,06+.0R)

(G> Lc.t A Ac '6‘-6 CVc.ui '{LG:{ '“c lpnrs-f ou‘fcamc.
bt‘oaou. J ih EU FDG) C»«Q B 'lfk:. odlww.e_
thef the secend is.

(Uc L\G-Vc

PCALB) = P(AS +P(B) - P(AB).
We knows P(AJ2PB)= P(SuFu6)=.§ by
fc.r'l‘, (o).
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° 5+.5- ((.%,3,, = . T52535.



